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— dE g3l 600,000 600
OAIE ZHlI S X 1,000
—HdEHAE & RAES 1,000, 000& 1,000
401 Al HI K 201 I 36,000 36,000 0
01 A& HI 36,000 36,000 0
OXFSAHEH SHIMEAL (RO 2 XIGHA
228) 36,000,000& 36,000
HESAH B2 XNEAE 3,224 5,824 A 2,600
= 1,612
[ 484
s 1,128
307 21201 A 3,224 5,824 A 2,600
= 1,612
= 484
[ia 1,128
06 283 3,224 5,824 A 2,600
OX2 s AL Adi 28 2(2,0009)
3,224,000 3,224
= 1,612
[ 484
[ia 1,128
AHESAEEs K 9,600 9,600 0
< 4,800
i 4,800
201 Let24d] 9,600 9,600 0
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SN FOIMEXED
HE: A4S L
& HFSALE2RS (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 4,800
s 4,800
03 &At2 I 9,600 9,600 0
OXZSAZdtAIS X & 9,600
— D0OtEN Lhs&EE JHE 500,000 * 43 2,000
< 1,000
2 1,000
—JIIESAME SAES 200,000& = 103l 2,000
< 1,000
s 1,000
—EAETESA HEgs
1,600,000& * 13l 1,600
S 800
s 800
—NA=SAES HALXF  400,000& * 103 4,000
< 2,000
[ia 2,000
A SAHE LS =2 93,480 89,780 3,700
201 Let24E] 27,180 27,180 0
01 At 22l 27,180 27,180 0
Oget=&H| 14,000
— NS RSWUM ol
4,000& = 1,000% 4,000
—&EAE TUSA 2t B2 MAE
1,000& = 1,0005% 1,000
—ANESAES 222 A
1,000,000& * 43| 4,000
— KNESAE AR Z2 3,000& * 1,000% 3,000
— AN ESAMAUE 2282 MA 1,000, 000& 1,000
—OtelXl S22 1,000, 000& 1,000
o=249=+¢ 7,680
— N SAMLEERARE A
70,000& = 23| » 129 1,680
—NHESAL DSLME(HE . SSDE)
150,000& * 208 » H23] 6,000
Oogxz 5,500
—ANESAEELNE & = NGFSALUE
e Xt 1,500, 000& 1,500
—EAE USALL HEEHA & Xt
500,000& = 4CH 2,000
—ANESA B3 RAYX
500,000& = 4CH 2,000
202 04l 5,400 7,200 A 1,800
01 = LH 4 Hi 5,400 7,200 A 1,800
OXNESAA 43 2=
150,000& * 3& » 12& 5,400
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el

FOIME XA
FHEHET R
REZAQ TR

SA - BB B (BA) - MM - BHES il 2
203 R =&t 1,500 1,000 500
03 AIBF=XH S =ZH| 1,500 1,000 500

ONASAEH & =™ 2HX 2E S
10,000& = 150H « 13l 1,500
206 M= Hl 5,000 5,000 0
01 =8l 5,000 5,000 0
OXNFESAES MEIHI(IIZSME  BESAH)
5,000,000& 5,000
301 gEtE L= 10,400 10,400 0
09 HALAHIEA S 10,400 10,400 0
OXNESAt & - SLUISFAL 2HE4
2,000,000 2,000
ASAA AZEHA ) 3E ?é*@.ﬂ SRS
100,000& *» 10¥ * 23] 2,000
ONOtEH LhsZEH HE 1,000,0008 = 28 2,000
HELAEXNJASA MEesen 500,000& = 23l 1,000
A S A SHEE FHOt 7,000& = 2009 1,400
? SN GESAMA AHIE4
5,000& » 400 2,000
307 glz2tol & 44,000 39,000 5,000
02 2B AEXS 12,000 12,000 0
O&E=2 ANISAA &t0tsSHal 8,000,000 8,000
OS=XJASAA BEHE A== 4,000,000 4,000
10 At3I =X 2 X 32,000 27,000 5,000
O0A20I2 2EL=IIAY =8
7,000,000& 7,000
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201 et 8,050 8,050 0
01 At 22l 1,500 1,500 0
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Oz22= & HA 1,550

—olE=sx BAWLLLS 50,000 50
—0S2SXY BHE L 242
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O Xt & Byl 5,000

— === s57U 300,000& = 10 3,000
— =Sy S8 28U

50,000& = 10& 500

—0s=EsXE FAx=44 1,500,000 1,500
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SN FUMEXED

H: NRES(ZMEX2)

Sl LHEHHX S (F=CIMEX D) (2 &HH)

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o &@ﬁ HRE2
701 JIEIS| HE =2 663,252 665,008 N 1,756
01 JIEIS HE =2 663,252 665,008 AN 1,756
Oozs20II2E83H &= 663,252,000 663,252
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